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5.5 Triangles

. A

Hypotenuse: The side opposite the 90° angle in a right triangle.
The hypotenuse is the longest side in a right triangle.

Pythagorean Theorem: /'l’,oo
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= This ONLY works if it is a right triangle!

Ex. 1 Write an equation for each triangle using the Pythagorean
theorem.
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Ex. 2 Find the unknowns using the properties from Pythagorean Theorem.
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Ex. 3 Find the unknowns.
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Ex. 4 What is the length of the diagonal of a soccer field that is

80 m by 76 m?
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Ex. 5 A4 mlong ladder is leaning at a point 2 m up the wall.
Find the distance of the ladder from the wall.
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